[ Efficiency vs vertpos |

J 4
kel : : -
T : 2
RS B N A n i 1 B IR
1 **» +Ht J .-‘H.Lqp..u-q....h...p .........
1072 o* 1

10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquareNew6_step2_ttbar-phasel-newgeom

~0.05
9.045
[d
£0.04
oy
9,035
‘©
£0.03
()
0.025
0.02
0.015
0.01
0.005
e

Ratio

0.95

[y
TTTT[TTTT[TTTI[TTTT
1
r e
- o

0.9°

=30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

0.0

..................................................

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


